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I.	
  Comment	
  tester	
  une	
  média/on	
  dans	
  
Process?	
  

Si	
  vous	
  ne	
  savez	
  pas	
  ce	
  qu’est	
  une	
  média/on,	
  
lire	
  ceci:	
  	
  
Regardons	
  le	
  modèle	
  4	
  du	
  fichier	
  
templates.pdf	
  



X	
  =	
  Variable	
  
indépendante	
  
M	
  =	
  médiateur	
  
Y	
  =	
  Variable	
  
dépendante	
  



Exemple	
  d’une	
  hypothèse	
  de	
  
média/on	
  

•  Les	
  jeunes	
  généra/on	
  de	
  Flamands	
  
s’iden/fient	
  plus	
  à	
  la	
  Belgique	
  que	
  les	
  plus	
  
anciennes.	
  

•  Pourquoi?	
  Parce	
  que	
  la	
  mémoire	
  de	
  
vic/misa/on	
  de	
  la	
  part	
  des	
  francophones	
  est	
  
moins	
  forte	
  chez	
  les	
  jeunes	
  que	
  chez	
  les	
  plus	
  
âgés.	
  	
  



Généra/on	
  

Mémoire	
  de	
  vic/misa/on	
  

Iden/fica/on	
  belge	
  



Généra/on	
  

Mémoire	
  de	
  vic/misa/on	
  

Iden/fica/on	
  belge	
  

Chemin	
  A	
  
Chemin	
  B	
  

Chemin	
  C	
  



Généra/on	
  

Mémoire	
  de	
  vic/misa/on	
  

Iden/fica/on	
  belge	
  

Chemin	
  C’	
  =	
  Chemin	
  
C	
  quand	
  on	
  contrôle	
  

le	
  médiateur	
  

Que	
  veut	
  dire	
  «	
  contrôler	
  le	
  
médiateur	
  »?	
  	
  Cela	
  revient	
  à	
  répondre	
  à	
  la	
  
ques/on	
  suivante:	
  A	
  niveau	
  égal	
  du	
  médiateur,	
  
quel	
  est	
  l’effet	
  de	
  la	
  généra/on?	
  
	
  Si	
  la	
  mémoire	
  explique	
  l’effet	
  de	
  la	
  VI	
  sur	
  la	
  VD,	
  
le	
  chemin	
  C’	
  devrait	
  être	
  considérablement	
  plus	
  
faible	
  que	
  le	
  chemin	
  C.	
  	
  



…En	
  Français…	
  
•  Il	
  y	
  a	
  un	
  impact	
  du	
  groupe	
  d’âge	
  sur	
  
l’iden/fica/on.	
  

•  Cet	
  impact	
  s’explique	
  par	
  la	
  mémoire	
  collec/ve.	
  	
  
•  Donc:	
  	
  
•  La	
  mémoire	
  collec/ve	
  est	
  influencée	
  par	
  la	
  
généra/on.	
  

•  Elle	
  influence	
  l’iden/fica/on.	
  	
  
•  Ceci	
  se	
  traduit	
  par	
  le	
  fait	
  que	
  l’influence	
  de	
  la	
  
généra/on	
  sur	
  l’iden/fica/on	
  se	
  réduit	
  si	
  
l’iden/fica/on	
  est	
  également	
  prise	
  en	
  compte.	
  	
  

	
  
	
  



…En	
  d’autres	
  termes…	
  

•  Il	
  y	
  a	
  un	
  effet	
  indirect	
  de	
  la	
  VI	
  sur	
  la	
  VD	
  par	
  
l’entremise	
  du	
  médiateur.	
  	
  



Comment	
  tester	
  cela?	
  
•  Je	
  prends	
  le	
  modèle	
  4.	
  	
  
•  Je	
  ne	
  sélec/onne	
  que	
  les	
  par/cipants	
  flamands	
  

(language	
  =	
  2:	
  les	
  francophones	
  ne	
  sont	
  pas	
  
concernés	
  par	
  l’hypothèse)	
  grâce	
  à	
  un	
  «	
  select	
  
cases	
  ».	
  	
  



J’ouvre	
  process	
  et	
  je	
  choisis	
  le	
  modèle	
  
4	
  

•  Ma	
  VD	
  (Y)	
  =	
  Iden/fica/on	
  à	
  la	
  Belgique	
  
•  Ma	
  VI	
  (X)	
  =	
  Groupe	
  d’âge	
  (1,2,3)	
  –	
  
l’échan/llon	
  est	
  divisé	
  en	
  trois	
  groupes	
  d’âges	
  
(1=	
  plus	
  âgés,	
  3=	
  plus	
  jeunes).	
  

•  Médiateur	
  (M	
  variable)	
  =	
  Souffrance	
  
Historique	
  

•  Je	
  choisis	
  «	
  5000	
  bootstrap	
  samples	
  »	
  (si	
  on	
  
génère	
  plus	
  d’échan/llons,	
  notre	
  es/ma/on	
  
sera	
  meilleure).	
  	
  

	
  





Dans	
  op/ons… 	
  	
  

•  …je	
  demande	
  le	
  test	
  de	
  média/on	
  de	
  Sobel	
  
(«	
  normal	
  theory	
  test	
  »).	
  

•  Ceci	
  est	
  un	
  test	
  de	
  la	
  
média/on.	
  	
  



Effet	
  de	
  la	
  VI	
  sur	
  le	
  médiateur	
  (a)	
  

On	
  ob/ent	
  un	
  tableau	
  de	
  
régression	
  

Coeff	
  =	
  coefficient	
  de	
  régression	
  non	
  
standardisé.	
  Ici,	
  le	
  coefficient	
  a	
  =	
  -­‐.89	
  

On	
  regarde	
  si	
  l’intervalle	
  de	
  confiance	
  
situé	
  entre	
  LLCI	
  (lower	
  limit	
  confidence	
  
interval)	
  et	
  ULCI	
  (higher	
  limit	
  confidence	
  
interval)	
  comprend	
  0.	
  Dans	
  le	
  cas	
  
contraire,	
  comme	
  ici,	
  il	
  est	
  significa/f	
  

0	
  n’est	
  pas	
  compris	
  entre	
  -­‐1	
  et	
  -­‐.71	
  
Donc	
  le	
  chemin	
  «	
  a	
  »	
  est	
  significa/f	
  



Effet	
  du	
  Médiateur	
  sur	
  la	
  VD	
  

La	
  souffrance	
  historique	
  prédit	
  l’iden/fica/on	
  à	
  la	
  Belgique	
  même	
  quand	
  la	
  
généra/on	
  est	
  contrôlée.	
  En	
  effet,	
  non	
  seulement	
  le	
  t	
  est	
  significa/f	
  mais	
  
l’intervalle	
  de	
  confiance	
  du	
  coefficient	
  ne	
  comprend	
  pas	
  0.	
  	
  

Mais	
  la	
  généra/on	
  con/nue	
  à	
  prédire	
  l’iden/fica/on.	
  Ceci	
  suggère	
  une	
  média/on	
  
par/elle.	
  	
  

Coefficient	
  B	
  =	
  -­‐.34	
   Coefficient	
  C’	
  =	
  -­‐.19	
  

Remarquons	
  que	
  Process	
  ne	
  donne	
  pas	
  le	
  coefficient	
  C.	
  



Test	
  de	
  l’effet	
  indirect	
  

Le	
  test	
  de	
  l’effet	
  indirect	
  est	
  ici	
  la	
  version	
  
«	
  bootstrap	
  »	
  du	
  test	
  de	
  Sobel	
  et	
  nous	
  dit	
  si	
  
l’effet	
  indirect	
  est	
  significa/vement	
  
différent	
  de	
  0.	
  A	
  nouveau,	
  on	
  voit	
  que	
  
l’intervalle	
  de	
  confiance	
  pour	
  cet	
  effet	
  ne	
  
comprend	
  pas	
  0O	
  



Test	
  de	
  Sobel	
  

Le	
  test	
  de	
  Sobel	
  (Z	
  =	
  .9.42,	
  p	
  <	
  .0001)	
  est	
  
haitement	
  significa/f.	
  	
  



Généra/on	
  

Mémoire	
  de	
  vic/misa/on	
  

Iden/fica/on	
  belge	
  

Représenter	
  graphiquement	
  la	
  
média/on	
  

.19	
  (?)	
  

Conven/on	
  de	
  nota/on:	
  on	
  indique	
  le	
  coefficient	
  
correspondant	
  au	
  chemin	
  C’	
  et	
  celui	
  correspondant	
  au	
  

chemin	
  C	
  (sans	
  contrôler	
  le	
  médiateur)	
  entre	
  
parenthèses.	
  	
  

-­‐.89	
  
-­‐.34	
  



Il	
  nous	
  manque	
  l’effet	
  direct…	
  

•  C’est	
  frustrant:	
  bien	
  que	
  process	
  ait	
  une	
  ligne	
  
correspondant	
  à	
  l’effet	
  C	
  (direct),	
  il	
  donne	
  en	
  
fait	
  C’.	
  	
  

Pourquoi?	
  Mystère….	
  



Comment	
  faire	
  pour	
  obtenir	
  l’effet	
  
direct?	
  

•  Une	
  simple	
  régression	
  de	
  Y	
  sur	
  X	
  pardi	
  (sans	
  passer	
  par	
  
Process)….	
  



Résultat	
  
Le	
  coefficient	
  correspondant	
  au	
  chemin	
  «	
  C	
  »	
  vaut	
  .53	
  



Généra/on	
  

Mémoire	
  de	
  vic/misa/on	
  

Iden/fica/on	
  belge	
  

Et	
  donc….	
  

.19	
  (.53)	
  

-­‐.89	
  
-­‐.34	
  



Voilà!	
  

Vous	
  êtes	
  à	
  présent	
  en	
  tester	
  une	
  média/on	
  
dans	
  Process.	
  	
  


